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Ex�ept answer�book, no extra sheet will be giu�. Write to the point and do not ··.
stnke the Written answer. . r-l
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Before answering the CJU:f!�tions, ensure that you have been supplied the correct and
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. ffllf!rZ/ �.: 

General Instructions : 

f iJ w JTfrr- rpr ? cJW 38 Jr�rr I iifTfit; rffer lflT'if : i31, � tr, r J!tr -q ? � � 1,

(ii) 

This question paper consists of 38 questions in all which are divided into five

Sections : A, B, C, D and E. 
l"' . 

7§r1s - t3T : W � if 1 ff 20 ffcfi 'i§W 20 J{�*� >ffW �rf 1 ufr5 W t,
C'-l 

section - A : There are 20 questions from r,to 20, each of 1 mark. 
(iii) ,rs - if : W � if 21 ff 25 ffcfi 'i§W 5 Wrf�}, � Wrf 2 ufr5 W #t

Section- B: There are 5 questions from 2:
P
to 25, each of2 marks.

(iu) rpw- ff': W � if 26 ff 31 ffcTi 'i§W 6 JT�rf '1 Ji7W; Wrf 3 ufr5 wt,
Section - C : There are 6 questions from 26 to 31, each of 3 marks.
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(v) rpg- - f : W urrs � 32 # as w5 f14 mrrrl, fffWi m'? 5 i;/c;; i/iT t,

Section - D : There are 4 questions from 3�to .35, each of 5 marks.. 
N 

(vi) · � - . , : w urrs # 36 # as ffc5 ff? 3 mrfc!, JffWi mrr 4 i;fc;; ii!' t,

Section - E : There afe 3 questions from 36 to 38, each of 4 marks.

(vii) ffJft JlR <RPN,zf 81 �J&ifit, �-.- i 1 mrr if, lP's-7' W rff JTRT � rFs-rr rt u

m � aih' rN-11 � c;r JlfW � ,J{!ft'/M; � I# w ,, m rr t3/T({W (!'fj J/R qi!

TRT t, r-

All questions are compulsory. Howeve�rouision of internal choice has
N . .  ,:

been made in 1 question of Section-B, 2 (l1#sti6ns of Section-C, 2 questions
u 

of Section-D and 2 questions of Section-E. You have to choose one question
of them.

(A) (-1, -2)

(C) (2, 4)

� 

SECTION-A 

(8) (-2, -4)

(D) (1, 2) �
.._ (I'} 

Coordinates of mid point of line joining two poi�s (-2, 7) and (4; -3) is
u 

(A) . (-1, -2)

(C) (2, 4)

1104/(Set : C) 
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(A) 180° (B) 45°

(C) 90° r--- (D) . 60°

,,, 
'. )  

1104/(Set : ej_, 
(tt'1(<iQ, ttqf,,eq) 1 J 

(Similar, Congrucn t) � 
,,,. 

. 

·I 
_, 

1 

.,,. • I..C) 

The tangent al any point� a circle makes an angle to the radius through the 

5. 

point of contact is 

(A) 180°

(C) 90°

(A) J

(C) 3

(B) 45°

(D) 60°

(B) 2

(D) \}fq�fqa

At how many points a tangent to a circle intersect it? 

(A) 1 (B) 2
/ 

(C) 3 (D) Infinite

sin 60° sec 30° cf>T 11R tn7IT 
r-·

✓3 
I..() 

N 
(B) 

3 
(A) - ('l') 

-

4 N 
,, 2 

r-1 

(D) 0(C) 1 u

The value of sin 60° sec 30° will be

Jj 
(B) 

3 
(A) 

- -

4 2 

(C) l (D) 0
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( 5) 
6• � tan 0 = 4 

"ITT ffl sin 0 cfiT l{R ·m :. 3 , 

(A)
3
4

3
(8) 5

r-­
� 
N 
(Y') 

N 

,-I 

(C) 5 4 r--
3 . {D) '5 �

(Y') 

N 

If tan e = 4, then the value of sin 0 will be: 8
3 

(A) 
3 
-

4 

5 
(C) -

3 

7. 9 sec2 A-·9 tan2 
A� i·:

(A) -9.

(8) 
3
-

5 

(D) 4
-

--- 5 

(8). 9 

(CJ 1 (D) 0

9 sec2 A - 9 t�n2 A is equals to : 

(A) -9

. (C) 1 

1104/(Set : C) 
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8. � � � � oqrn cor � l
( 6 ) 1104/(Set : er

1 

(A) 7t : 1 (B) 2n: 1N

N 

(C) 7t : r (D) l·1trt
. u 

The ratio of circumference is to diameter is 

(A) 1t : 1 

(C) 1t : r 

(8) 2n : 1

(D) 1 : 1t

9. M ¥ cfi Bt_;q,�0s q;r � � � 6 wft� cmvr 30° �, min :

(A) 2n �2 (8) 7n �

(C) 3n �2 (D) Sn �

fl 
Area of the sector of a circle with radius 6 cm and angle 30°, will be. . 

(A) 2n cm2

(C) 3n cm2

(Bl 7n cm2

(D) Sn cm2

(A)
3

7t 
wfi2 

(8) i TC wft2
4 _. 3 r--

(C) l81t wfi2

(D) 36n f2

The surface area of sphere whose radius is.�m, will be: 

(A) · 3 n cm2

4 

(C). 18n cm2

1104/(Set : C)

(8) in cm2
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(D) 36n cm2
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cf\� 0-10 10-20 �-3� 30-40

ill till �tll 6 7 5 

I 
1 1

(A) 0-10 r--- (B) 40-50
1...0 

1 ·

(9,--80-40 � (D) 10-20

40-50

6 

The modal class for the follo&g frequencv distribution 
n . 

Class Interval 

Frequency 

(A) 0-10

(C) 30-40

0-10

6 

10-20

7 

20-30 30-40

5 11

(B) 40-50

(D) 10-20

12.- � � er; ffi if � �ljiifclcfi �� � � ? 
(A) 3'9T� = �+2'9T�

(8) '9TUfcli = 3 � + 2 '91�

(C) '9TUfcli = 2 � + 3 '9T�

(D) 3 '9Tfllcfi = � -2 '9T�

4o·-so 

6 

1104/(Set: C)
1 

1 

What is the empirical rcla@nship between the three measures of central·

tendency? � 

d. 
('J 

(A) 3 Me 1an = Mode + 2 Mc�
(8) Median .. 3 Mode + 2 Mean

(C.). Median .. 2 Mode + 3 Mean

(D) 3 Median "' Mode _ 2 Mean

1104/(Set: C) P. T.O. 
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( 8 ) 
13. � P(E-1 == 0.01 l m P(E ;rnt) c6T lJR m1rr :

(AJ.. 0.7 (8) C.3

14. 

15. 

(C) 0.03 r-- (D) 0.93
N If P(E,) = 0.07, then P(not E) wirobe :

(A) 0.7
.-i 

u (B} 0.3

(C) 0.03 (D) 0.93

72 � 120 col l{o �o ,3'.{o (HCF) t 

(A) 12 r-- (8) 24
'° 

N 

(C) 36 (Y') 
(D) 72N 

u 

The HCF of 72 and 120 is :
(A) 12 (8) 24

(C) 36
(D) 72

f:t91ftf©a if �-� . 
t 7msqr 

(A) ✓36
(B) ✓'25

r--(C) 6✓3 � (D) 5✓4 
(Y') ;__......-Which of the following is an i�onal number ?

(A) ✓36

(C) 6✓3

1104/(Set : C) 

(B) ..fis

(D) 5✓4
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16. faqfcf � 2:2- - 8x + 6 c6 � cJiJ ZTI•Ni� mTJT :

(A) 4
.. (B) -4 

(C) 3 (D) 1 /3
t--­
�o The sum of zeroes of quadratic polynomial 2x2 --C'Sx + 6 will be

. ('1') . 

(A) 4 (B) -4 � 
' u 

(D) 1 /3

17. A. P. 3, 1,-1,-3 ............. <6T ffl �fflQ �I 

Find the common difference of the A. P. 3, · 1, -1, -3 : .1 • .:: .......... 

(A) (x + 1 )2 = 2(x - 3)

(B) (x - 2) (x + 1) = (x - 1) (x + 3)

(C) (x + 2)3 = 2x (x2 - 1) .,,, 

(D) x2 + 3x + 1 = (x :.. 2)2

r­'° 
N 
M 
N 
r-1 
u 

II 

Which of the following is a quadratic equation ? 

(A) (x +1)2 
= 2(x-3) r-

\!) 
·N

(8) (x-2) (x+ 1) = (x-1) (x+ 3) M

N

rl

(C) (x + 2)3 
= 2x (x2 - 1) u

(D) x2 + 3x + 1 = (x - 2)2

1104/(Set : C) 
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( 10) 1104/(Set : G) 

19. -34"1�;, (A) : 5 � 't1AAq ffl t1 

Wfi (R) : � t11tt'tq,�tfqj1 c6 � i3iqftqq fl@Uq �I 

(A) ��q,�1 (A) � W6 (R) � � � '3frt W6 (R) .Jifllq,?.11 (A) � � � � �I

1 

· (B) \ii��1 (A) '3fR � (R) � � � � oct (R) '3t�q,l!F-f (A) � mt � � � �I
('f') 

N 
.--1 

(C) Jifl!q,l!H (A) � �I � (R) l@cf -�'

Assertion (A) : 5 is a rational number. 

Reason (R) : The square root of all positive integers is an irrational number. 

(A) Both Assertion (A) and Reason (R) arc true and Reason (R) is correct
explanation of Assertion (A).

(B) Both Assertion (A) ari4 Reason (R) are true and Reason (R) is not correct

explanation of Asserti� (A). 
N· 

(C) Assertion (A) is true, t§t Reason (R)' is false.

(D) Assertion (A) is false, but Reason (R) is true.

1104/(Set : C) 
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20. '3i�cfi\q"l (A) : �'311 (1, � � (4, ,1) � � � � 5 � �I 1 
\0

ac6 (R): � A(x1 , �1 � B(�, Y2) � � c6l �
Nr\ 

AB-1: ✓(x2 - xi )
2 + (Y2 - yi)2

(A) 13,{l\cf,t!H (A) � � (R) � tl'tt � � clc6 (R) '1\�cbtj� (A) c6l � � cITToT i1
,,.-

(B) \j'.\l1\c6�1 (A) � clc6 (R) � tl'tt � � � (R) �fiicb\!41 (A) c6t ml � � tf){oT �Ii"' 

\J)

(C) � (A) tl'tt l �rt (R) � i1

N 

(D) '1t�c6�1 (A) T@o �' ��� (R) � i1

Assertion (A): The distance between points (1, -3) and (4, 1) is 5 units.
Reason (R) : The distance between A(x1, Ytl and B(Xi, y2) is

(A) Both Assertion (A) and Reason (R) arc true and Reason (R) 1s correct
explanation of Assertion (Al•

(B) Both Assertion (A) an� Reason (R) are true and Reason (R) is no� correct
explanation of Asserti� (A)·

(C) Assertion (A) is true, b� Reason (R) is false.

(D) Assertion (A) is false, b�t Reason (R) is true.

1104/(Set : C) P.T.O. 
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(V) "-Gf 

r-1 SECTION - B 
u 

21. M cm- cf> � � (wipers) �, 4<�< c6'lft -Jiii81Rd � � �, � � cCt W. �

� 25 �t � 115° c6 ffl� ��cf,"Z tTcl>ffi i, � cCt ��c6 �
� � t{fCfj m � l w � �, 2 

A car has two wipers wh�h do not overlap. Each. wiper has a blade of length
25 cm sweeping through (fiijJ1 angle of 115° . Find the total area cleaned at each
sweep of the blades. G

kx+3y-(k-3)=·o 

12x+ ky- k= 0 

For what values of k will the following pair of linear equations have infinitely
many solutions ?

kx+ 3y-(k-,3) = O

12x+ ky- k= 0 

r' 

23. � if DEi IBC !1 AD fflo�I
_ _,,, 2 

1104/(Set : C) 
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In Fig. DE I IBC, then find AD.

I"' 
( 13 � 

(Y) 

A N
rl 
u 1.8 cm

N
. ' (Y) 

1104/(Set : C) 

24:..- t% � A "ij,_ � 1:% � cfi -� � 5 "M) � t � q{ ��f � � � 4 wfr i1 �

c6t�Wcf�I U 2 

The len_gth of a tangent from a point A at distance 5 cm from _the centre of the
circle is 4 cm. f<'ind the radius of the circle. 

.., 

25.
_ 

� sin (A - BJ = � , cos (A + BJ = � , 0° 

< A + B S goo, A > B, ffl A � B ffiij

2 

. 1 1 (' 
If sin (A - BJ = 2 

, cos (A + B) = 
2 

, 0
0 

< t B s goo , A > B, then firid the value of 

A�dR N 

1104((Set : C) 
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� tan (A + B) = J3 � tun (A - l�"' � ; 0° 
< A + B � 90°, A > B, fil A '3frt B �

rr, v3 

1,R m t6'1��1 N 
H 

1 lf tan (A+ B) = ✓3 and tan (A - I.JJU rn; 0° 
< A+ B � 90°, A> B, then find the:

v3 Ivalue of A and B. 

� -'ij 

SE(FION-C 
1.0 

26. � � 6r- 7x- 3 c6 � � ► '3ln: ���ct� ct��� l
,. ���I � 3

. 
u 

Find the zeroes of quadratic polynomial 6x2 - 7 x - 3 and verify the relationship 

between the zeroes and the coefficients. 

Ill 

27. � ml1lf cpl '3im 26 t '3ltt � m � m � � Tfl t, � fflo �, 3 . 
,.., The difference between two numbers is 26 and one number is three tin1t:�s the J ,.

other. Find them. \ 

OR 

f'-
\0 .. 

N 

C"1 
N 
M 

3x Sy x y 13 ---=-2 -+- =-

2 3 ' 3 2 6 

Solve the pair of linear equations : U 

3x _ Sy =-2 �+Y =� 

.l 

2 3 l 3 2 6 

1104/(Sel : C) 
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( 1s) 1104/(Set: C) 
28, � � fc6 Glm � °8 � \:ff � 1Jt m �� � ciGl��j � � �! 3 

,.,,,,-
' ' � ' Prove that the length of tan�ts drawn from an external poi.11t to a circle are

equal. � 

29;.: 6PQR if, �ticfil ffl Q {i'icb\01 i, PR+ QR= 25 WU #.1: PQ = 5 �.;I �, ;, cos P ;! .. 

,,. 

3 
,r-

In 6PQR, right angled at Q, � + QR= 25 cm and PQ = 5 cm. DeteIL·iT!e :..'iie 
M value of cos P and tan P. N 

u ,:Jf'fclT

OR 

� � 2 1-cos8
,�� "flll"l"' : (coscc e - cot 0) = ---

1 + cose

1-cos 0Prove that : (cosec 0 -cot 8)2 = 
8 I+ cos 

Prove that .Js is an irrational number. 

..... - - ....31. 52 'Cfm c6t � W1irr "ff t6fr � � lJiT :q if C% G1iT R�l�l :\1-:,j �l ... 1-;-;1711'3':'i � � 

m c6t 511'4cbcil fflcf � : . r-

(iJ ��m�ffi<frr� 
. N 

(ii) � qil tfiif

(iii) � � c6t �

1104/(Set : C) 
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A card is drawn from a well shuffled deck of 52 cards. Find the probability·,

getting: 

(i) a face card

(ii) a spade
.--• 

(iii) the queen of diamonds u 

1104/(Set : C)

�-� 

SECTION-D 

.-­

, \ 
....., 

�1lt.t'R il�ill� � � 

3000-4000 4 

4000-5000 18 

5000-6000 9 

6000-7000 7 

7000-8000 6 

8000-9000 
9000-�ooo 1 

10000-l:t 000 1 
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The giveh distribution shows the number of runs scored by some top Batsmen of
th� _y,orld in one day intemational cricket matches

r­
\.0 

N
M 

N 
rl 

u 

r­
\.0 

N 
M 

N 
rl 

Runs Scored 

3000-4000 
4000-5000 
5000-6000 
6000-7000 
7000-8000 
8000-9000 

9000�10000 
10000-11000 

Find the mode of thfe data. 

tal .. :.: . 
. 

Number of

Batsman 

4 

18 
9 
7 
6 

3 

1 
1 

33. � � iltc, � � � � � 18 �;�l, 24 � mu c"t; � vfR if,��

.erru i6 � � c61 ffl 1 � � M l1 qru c61.'r.t@ m �1 5 

A motor boat whose speed is 18 km/h in still water takes 1 hour more 'to go

24 km upstream � to return do�stream to the same spot. Find the speed of
N 

the stream. � 

1104/(Set: C)
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. 
3 qff _� � � � (cretl if) c6T � itr � � 5 qrf q� � c6 � cfiT lWf .!_ t,

---- �-
M 3 

� c1�'il� � fficf �I � 
tJ 

The sum of the reciprocals of Seema's ages (in years) 3 years ago and 5 years 

from now is ..!. . Find her present age. 
3 

Prove that "If a line is drawn parallel to one side of a triangle to intersect the other 

two sides in distinct points, the other two sides are qivided in the same ratio" . 

. 35. � � � � c6 31FJiTt cfiT � � q-{ � �� '3iE4t?tf?tci �I � ��Hlcfit ( "1rT cfit � -3frr 
;,,/ 

cllIB �: 2.1 1lt '3lIT 4, 1lt i om � � � � 2.8 1lt i, ffi � a;_ cffi ffi ij

� it-1cHfl cfiT � fflcf �I � � � 500 ma lfi2 c6t � � � � cf;-1qtfl cfil 

� 11@ �I (E4R � fcl; � cf; � cffi cli-1<llt1 � � � i1TI"ffi �1) 5 

A tent is in the shape of a cyl\ttder surmounted by a conical top. If the height 
and diameter of cylindrical pa.ii� arc 2.1 m and 4 m respectively and the slant 
height of the top is 2.8 m. Find�e area of the canvas used for making the t(mt.

,--i 

Also find the cost of the canvas ldr the tent at the rate of, 500 per m:z. (Note that 
the base of the tent will not be covered with canvas.)

1104/(Set : C) 
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( 19) 

� 

.· OR to 

1104/(Set : C) 

� 7 "ij1fi cf@ � �MICfil.( i$f; c6 � {% �TI�I � g3U �I '3lffi cfiT � � 
C';.J 

cfqT m � i ? � WITT_ iR om cfiT � � if@ �, 

A cubical block of side 7 cm -is surmounted by a hemisphere. What is the

greatest diameter the hemisphere can have ? Find the surface area of the solid.

�-1!' 

SECTION-ti 
\0 

. "" 
36. qq; � � � c6 �ftt{ � � �I � �� '1fcf P � '1fcf Q �q�('f ��� "ij �

� c6t '3nt ·'3lf � �I � � Fcfi � P c6T �q1'11 cfilUT 45° � � '1fcf Q c6T \jiq1'11

-·� 30° t, -� � '4t � l Fc6 � � � � 100 lfITT_l,

� ... . .
_____ .. _________ _ 

J 
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(ii) PD� � ffl(f �I

(iii) QD ctt � it@ �I

(iv} AP c6t � it@ �I 
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A boy standing on the top of a light house. He saw that-'two boats P and Q were 

approaching towards light house from opposite sides of it. He observed that 

angle of depre·ssion of boat P is 45° and that of boat Q is 30°. He also knows the 

height of light house is 100 m. https://www.haryanaboard.com

rl 
u 

Using above information answer the following questions:

(i) What will be the measure of LAPQ ?
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· (ii) Find the length of PD.

(iii) Find the length of QD.

(iv) Find the length of AP.
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( 22 ) 1104/(Set : c·
Anvi has 81 o apples and she arranged them ifc;baskets in such a way that 5 apple;

are in first basket, 12 in second basket, 19 ap�es in third basket and so on.
. 

N 

Based on the above information, answer the �Bowing q�estions 

{i) Is the number of apples in baskets in A. P. ? 

(ii) Find the number of apples kept in the 9th basket.

(iii) Find the total number of apples in the fp:st 13 baskets.
.

� 

OR M 
N 
r-1 

u 
In how many baskets 95 apples can be kept? 
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(iii) AC * qt4{;i"5 � P!��lit. � �I 
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( 24 ) 
11�4f . \1 

In a clas 4 friends 1wm, Rajan, Pravccn and Ra.roan arc ait}lit :.�}

. 
sroom . 

,1ng O vr ;

P_01nts A 8 C, d O 8
s shown ,nlthc fig. Assuming O be the origin (). · 

l'i tht ,:

, , an 
, n 

· · be. . ,

figu 

. ""' . b fi 

"'\; rvc t' '

re and answer the fol10W1ng ql.l'<l'Uons ascd on 1hc ,gurc : . . . llt 

('I') 

(ij 

N 

Find the posili�n of Rajan. rl
u 

(ii) Find the position of Pravccn.

(iii) Find the coordinates of the mid point of AC.

I" OR
'° 

Find the distance of Pravecn �m origin.
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